
Lac Operon Review









Which of the following experiments would help you to 

determine whether the ß-galactosidase gene is induced 

by lactose or glucose?

a. Measure the amount of ß-galactosidase produced by E. 

coli grown on a glucose plate

b. Measure the amount of ß-galactosidase produced by 

E. coli grown on a glucose + lactose plate

c. Measure the amount of ß-galactosidase produced by E. 

coli grown on a glucose plate, a lactose plate, and a 

glucose + lactose plate

d. Measure the amount of ß-galactosidase produced by 

E. coli grown on a lactose plate



In a normal system, if no lactose were present, where 

would RNA polymerase initiate transcription on the 

DNA shown in the figure below?

a. lac operon promoter

b. lac operon operator

c. lacI promoter

d. lacI



A hypothetical bacterium isolated from a Martian sea 

uses a silica-based sugar called silicose as its main 

energy source. Which of the following would be the most 

efficient type of control for the production of silicase, the 

enzyme used to metabolize silicose?

a. Constitutive transcription of silicase gene

b. Negative control of transcription of silicase gene

c. Catabolite repression transcription of silicase

gene

d. Inducible operon in control of transcription of 

silicase gene



At all steps in 

gene expressoin!



DNA has a (-) charge, Histone proteins are (+)

So, DNA wraps around 8 histones with linkers

H1 linkers interact

Looks like beads on a string!
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